Necht (G, o), G = {id, Roo, Riso, Ra70, Z1, Z2, Z3, Z4}, je grupa symetrii ¢tverce spolu s operaci skladén{
zobrazeni, kde

Rgg = (ABCD), Rigo = (AC) o (BD), Roro = (ADCB),
Z1 = (AD) o (BC), Zy = (DB), Zs = (AB) o (CD) a Z, = (AC).
Tuto grupu zadame tabulkou:

o id  Rop IRigo Roro 73 Zo Z3 Zy
id id  Rgo IRiso Roro 21 Z Z3 Zy
Rgp | Roo Riso Roro  id Zo Z3 Zy Al
Rigo | Rigo Roro  id  Rgo 23 Zy Z1 Z3
Ro7o | Ro7o id Rgo  Rigo 24 Al Zo Z3
Al Z1 Zy Z3 Z2 id  Roro Riso  Roo
Z Zo Al Zy  Z3 Rgg id Royo Riso
Z3 Z3 Zo A Zy  Rigo Rgo td  Ropo
Zy Zy Z3 Z Zy  Rorg Rigo Rgo  id

Pi.: Z1 0 Rozg = [(AD) o (BC)] o (ADCB) = (BD) = Zs



